ThAnkUesxcMaT

EZ GMAT &/2RY/BIVHRI/EEFHE BNERERES : ybntl10 HZEIRE

VAW N Y

D i AR

FIFE 73 8018, WA 2 o) @ P 2 AN RANBE AT G — BT T, JRATTt 75 ZEXT BIF 70 D0 Rk AT

9, RIEXEE— R R, 5K, BE5RE & RN 4 AT 2B 0] T A

& SERT BRI UBNE, B, FARE N BOSRNG. r ENHR I NE S R AR

AIEARE M FEN . TTESHETT . M3 e R ek, s KRbaE, 2 Z0RAR

2. A TS

15l 73

How many different prime numbers are factors of the positive integer n?

(1) Four different prime numbers are factors of 2n

) Four different prime numbers are factors of n*
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If zy<<xy<<0, is |X-z|+|x|=|x-z|?

(1) z<x

2)y=0
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2y <xy<0 ¥t N zy-xy<0, #H—PHEHEAAN y(z-x) <0
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In the sequence 1, 2, 4, 8, 16, 32,..., each term after the first is twice the previous term. What is the
sum of the 16th , 17th ,and 18th terms in the sequence?
A. 218
B. 3(217)
C. 7(Q216)
D. 3(216)
E. 7(215)
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John and Mary were each paid x dollars in advance to do a certain job together. John worked on
the job for 10 hours and Mary worked 2 hours less than John. If Mary gave John y dollars of her
payment so that they would have received the same hourly wage, what was the dollor amount, in
terms of y, that John was paid in advance?

A. 4y

B.
C. o6y
D.
E.
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